101. Consider the following two statements consisting of Assertion (A) and Reason (R) and select

vour answer using the codes given below :

Assertion (A) Rise of militant movements in Indian National movement revealed to
the British Government, the extent to which the Indians were
huu;i]iéted and dissatisfied.

Reason (R) : Indian youth were involved in large numbers in rhi_lita_nt movements

and left their foot prints as Heros.
#%) Both (A) and (R) are true and (R) is correct explanation to (A) \ ..;L'\ﬁ'.

(B) Both (A) and (R) are false

(C)  (A) and (R) are individually true but (R) is not the correct explanat

036

lemeu(mLd @@Guné;ﬂu_uémmﬂé) Qan@ésiu(HeTer GUnn (8) sryewrd (&) Spdliumaismerd &hbda

(D) (A) is false and (R) isf

Qaner(® &G0 @asrr@ée;ﬁui@im Qg ey b5 2 riseT ellent_eoiis Cgifley Qelis.

gamm (#.) Hp@eal Gum;rrl'_l_gﬁeb. Solly Caflweunflaatien er(pss, 2pmHGeaw
Eirdiursmer ehs <laeinG Spewniu@ssl polsms Qwsss

B b5 @ 2 anibalug).

Apfu @aagsisdr <fle saeile Sy Cafluardsd Eusssda

Blenamths), EILSTEaITS Hhisang Heanaalsamar el & Cleenmarerar.

(A) . (&) HmD (&) @geﬁm@@m&ﬂwnm@m. (&) - (sa) e eflwimen eflardabmELDH

(B) (&n) PDID (&T) @renGHEL saipramal

(©) (o) Oy (&) seflGsaiuns &rﬂmrr@rsnm Syanre (&r) — (aﬁ) eflem sflwirer eflardsinae
D) (o) paup. (5) 5
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102. Identify the leader who uttered the following statement :

. “T am not anti-English, I am not anti-British, I am not anti-any government, but I am

anti-untruth, anti-humbug and anti-injustice.... so long as the government spells injustice, it

»”

may regard me as its enemy, implacable enemy.. "
(A) Gopala Krishna Gokhale (B) Bala Gangadhara Tilak
‘/ M.K. Gandhi @) Jawaharlal Nehru

Plssmpeann Cahedlss Caalius senavaulm uwimi?

.. pen EElass|EE aSlyrareuen S, Hiem LhECawTaEssE el 2w, B

(A)  Gamure &lmeiger (G

(C) Cuonasansna STbahse

103. Which national lead ':_:; fellowing statement?

“I am an Indign<Pom Tom waking up all the sleepers so that they wake and work for their

motherland”. & '
s Thilak (B) Gopala Krishna Gokhale
Annie Beasant | (D) Jawaharlal Nehru

»

- Aemeu(mid Fapenn iflefss Coflug semaaui wiri?

“men. qm @‘rj;@u_us&-r. sULL®L uds eprGuaismar ellfstsy Gaig, sTuBTlgne
uemtlwmpoiory efliflijemrieafliiiCLien”.
(A)  ureshisisr HaosT (B) Carume Smageanr CarsGa

C) eefQuaan (D) = geaaniared Gpm
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104. Consider the following pairs.

L Swami Vivekananda —  Parliament of Religious Chicago 1893
1I. M.S. Subbulakshmi —  Patronized art and architecture

II. Mother Teresa —  Central Hindu School, Banaras '

IV. Raja Ravivarma —  Classical paintings

Which of the pair given above is/are correct?

(A) Tonly v( I only

(Cy Illonly (D) IV only

emeu(mid @enerraane SMHSSIe) [aneaTs.

I. seundl elGeusrarpsn — 1893 wyib e (R HésnGsaneden sowi LinymEn

0. enb.aren. L&) — S DN Sl S5
L. c!)qre&rzmmﬂg,wn' ' - sl @ngtiueraf], Lemgen
IV.  gogn refleudiom = L.fgpmmd.:rrém ReNUBIG e

Ciop@dlindi L G)enewraailen of
A) T @b
(C) IIIwi@b

105. Which is not the work of Otf; @ a
(A)  Senkuntarmals N | ] (B) Saraswathi Anthathi

(D) Arumbai Tollayiram

e Fa BT GTUPEILIG) BT :
DG oG HST WiTana _ -(B) sreveud) 2ibsrS
umﬁnua_r,ré;msmb ' (D) =ymbaus Asrararmubiyn

106. Who was the founder of the Kisan Mazdoor Praja Party?

(A) Achariya Menon (B) J.B. Kriplani Menon
y Achariya J.B. Kriplani - (D) dJaiPrakash Narayanan
Sevmer avgt Aynnr slfows Cempmpelsgeui wmi?
(A)  ygsmiwm Goeren (B) J.B. A@puenaf] Guoeren
(C)  eyssmmwund.B. Hpuaref] (D) Qmuinrsres Brymwiemwren
O | | 29 GTBA14
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107. Who became the Chief Minister of Madras Presidency in 1923 after Justice party won the

elections? _
(A) Ramarayeningar (B) K.V, Reddy
(C) T.N. Sivagnanam Pillai (D) AV. Patro

1923 oub sye® per LGupn Qeerenen wrara Coisald Ghlal £ Qeupb@Lhn Gme wim
- Qaeena wranamsdlen apge wiHHMlums QurmuGuppri?

ﬁ LD GO i (B) Ca.efl. Qplig
(€) w.eer Heugsremb Geranar (D) el ursGyr
N
108. Who made the statement : “‘Weor shlp of God through the services of the poor 2
(A) Mahatma Gandhi ~ (B) Mother Therasa
f Swami Vivekananda (D) Ramakrishna Para

‘gepsans@ QeramHiseT
(A) st EnHE
(C)  =weumf efCausTenBsm

109. Point out the wrong statement 1n
Statement :
I The place whichsexpt
1. Tornadges are™S” sha
II.  Harmattan'wind

IV, The. word Te ous has been derived from a Latin word.
- B) IV

11 _ D) I

Spaea_ &(mssisdln saprans s & aramdsaa)ib.

S(HSSISHAT : | ' ‘

11 apaenapsale Liell yfltay grhuBib G sms Lell =1flis anowib erer &mgpe&a;uu@éﬂm@
I GLmienGLr ywe “S” eugeubgil 6 GmEELD.

II.  epnfmol L er smpm sapmyrellen Hpsel uadidd cSadsma.

V. @éafluah arenp aurangwireng) @asdan Quomdlullednhg QUpLILL LS.

(A) I - B) IV
© I D) I
GTBA14 | 30 O




110. Match the following pollutants.

(a) Gaseous pollutant - 1. Anthrax
‘ (b) Metal pollutant 2. Chlorine
- (e) ADeposited matter pollutant ' 3. Cadmium
(d) Bio pollutant 7 4. Tar

(a) (b) (©) (d)

o e 3 4

Elb&sTanb isURSSsman QUTHSSS:
(a) smHo wIELESS - oe 24 HBTTEE
; gL (H5o) \ 2. ©Cermilen

3. asmlbuib

4. St
A 2 3 4 1
B 1 2 3 4
© 4 3 2 1
(D) 3 1 - 2 4
O _ 31 GTBA14
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111. Which of the following is correctly matched? -

I,
II.-
- 111
V.
£
®)
©

@)

i,

(A)

©

D)

GTBA14

Meteors
Comets
Halley's Comet

Milky Way

III

LiméeuLfl oL eib

11

11T

erflspaer ‘\0—! - el plasdgb

Shooting'stf-u'
Revolve round the earth

Appear once in 100 years

Hundvreds of stars

Liflenis Ol eumE DS
100 aumL58h @ @mepon Caranmyid

BIDm&saursaTen HLssdmaer

32



1128

Match the following List I with List IT with regards to reservoir. Select correct answer using
the codes given below the list :

List I List IT
(a) Human being 1. Cholera
(b) Livestock 2. Ring worm
(c) Rodents 3. Plague
(d) Dogs and Cat 4.  Anthrax
@ & © @
A) 1 2 3 4
B). 3 4 2 1
1l 4 3 2 ol
D 2 3 1 4 L

Smpilisafiar @mudLsms Qeran® aflas I-2Lear aiflos 1l-g QumEmssis. cufl
2 arar Qar@ e mpa #flurer eflen_enw Ogflay Qewis.

aifleng 1 ) auflens 11
(a) mcoﬂg;eh'( 115 ST
(b) asTRE@L&ET 2. s (p

(c) Qasrrgf)] LiLienau

(d) Bmi HDIb Lever

(a) (b) () (d)
@ 1 2 3 4 e
®) 3 4 g # |
© 1 4 : k
D) 2 3 g \ :

in an system 1s-
i { irectional

Multidirectional
(C) Bidirectional
(D) No direction

GpHlea war_asso aaliliu@b 568 @l L oreang)
(A) gCriles Crrss

(B) .u_suﬁcmsrcz‘{arrétﬁ

©) @mdles Crrsd

D)  Heswpn

33 - GTBA14
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114. Which of the following statement is correct?

I,
produce and release more glucose and to stop consuming it for its own needs.
I When blood glucose level decreases, the hormone glucagon signals the liver to
produce and release more glucose and to increase consuming it for its own needs.
ITI. ~ When blood glucose level is high, insulin signals liver to synthesize and storage of
glycogen and triacyl glycerol.
IV. When blood glucose level is high, insulin signals liver to stop the synthesis and
storage of glycogen and triacyl glycerol. i . 'lfi‘
A I and III
(B) landIV
(C) II'andIII
(D) IlandIV
Spaugmd Qgmirsafier era) Fiflul
I Qrss  GEnECama  oiena
@lensCaranay swinflss) o
: GenECoHneng. s i
. @rss e bsmey  <eme)  G@pubCury, GErsstar Quasght, <ifls  ereld
B@55Camenen swuThss @eNEEh Ly sdaramas gam@Hans. Coaid bs saredda
5(E PSS sem Caanausanals Lwearu(saSeans).
] @165 GansCaray slatey SifsfEgn Curs @eansadar oids siamein SlenenCanGlagenm oHmLd
yersimee daflamrmas suriss Caflsgbuy sddimag siardEans).
V. @rss @@apsGanan siere oiflafésen Curs Qensdlen, SoaGsrQne whmib 1wy Liamsd
faflegred 2 HLGH wHmib Calllmu AnssiIbuy. soadmead g H&ams).
(A) Iwomb III
® Iuopgi IV
(C) II wpmb 1T
D) Il wpmn IV
" GTBA14 34 O
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115.

- 116.

In the Union budget 2013-14, Rs. 1,000 crores has been a]located for funding women
empowerment and safety. The name ot the fund is called

(A)

“

(©)
D)

Abhaya fund ' .
Nirbhaya fund

Soubagya fund

Sumangali fund

0013-14 sl 275 eurey Qeeay semédls @. 1,000 Camg. fE Aueamsdt HFsMTowLORSED HDID
ungsmidnE esdsiulerers. Sibs Bl Guwi

(A)
(B)
(©
D)

1L

&

S Blgl
i B8 | ey

QaarLimsdur i
ELomSe) Bl

f the following

To promote private se
I, II and V are corré

rOLLTEEGSD GNES Spsar_ smpnseild sfiuraame eameau?
SHpenwouiienar HsiEs.

<sipflen gaauSl g @mer Gennas.

sghATorsab, dmrbgib gl cGUUSaman Siflslss.

2|78 e QUTMILILISEHET & H(PE. ‘

Gu_gufenar Sl psiL@EE), saflwmt SampéE i LeTLSDET eeTT&E.
L I opmib V sflwirerena ‘
I, IT, II1 wpmid V eflwreraney

I, 111, IV opmio V sflwrenaneu

L 111 wpmih IV sflwrereney

35 GTBA14
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117, In 2007, the percapita consumption of energy in India was Kilogram of oi]

equivalent.
(A) 529 (B) 592
© 295 ' (D) 925
2007 sy a0, @pﬂunaﬁlm saflpur erfless) g]a;nsﬁﬁlm <66y ' —— ACandlymb
ererenanr LISeSL (Rié Lol
529 ' B) 592
© 205 ) 9% |
- 1
118. The oxidation number of Mn in K:MnQyj is it
Q) +2 (B) +4
f +6 D) 0 @%
K2MnOs—6» Mn-ein <268 Congi ereisr . e |
(A) +2 '
(C +6

119.  Which of the following oxides of nitro d?
@A) N0 (B)
© NO : \0 y NO,

afled erg) ﬁm@mt_mgﬂ?

B) N,0,
(D) NO,
120. Colemanite is an important mineral of
)  Boron (B) Aluminium
(C) Gallium ' (D) Indium

Gardween Geraumid @rr 2 Caragdlen wédlwiorear saflowmEib
(A)  Gumgmen 7 (B) <@dalwub
© Caelluid (D) @emguiid
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121. Consider the following pairs :

I.

II.

I1I.

Which of the pair given above is/are correct?

(A)

®)

(©)

j 111 only

k- ' Aenaumid @ananrsener smssle Qands.

X rays — Rutherford

Atomic Nucleus — Roentgen

Artificial radioactivity — Curie and Juliot

I only
IT and IIT only

I and II only

DHEO19L L Geemaeficy e1g)/ erenau &

(A)

(B)
©

(D)

[ (b
1T wopmd 11T 1ol (b
T wpmid IT 1w Hib

T o o

37
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122,  Consider the following statements and select the correct answer.
I The path of a projectile is a parabola. ‘
II.  The acceleration due to gravity at the centre of the earth is zero,
III.  The gravitational constant does not have unit and dimensions.
ﬂ Both I and II are correct but IT1 is false
(B)  Both I and III are correct but II 1s false
(C) 1 II, HI all are correct
(D)  Both II and IIT are correct but I is false

Epsan spmsmer smadld Qaneam® sfwrer ellanaws CaibEsE0 :

I. erf@umper gendlar LTeng LiTeuanatey <@Lb. @*

11. HeSludlen entowigdled el WP O&sgdlen i Lmsluib 1D,
II.  wiSuwe wrhlellse & B DL Ao reThigeT é]em_mng,j,ée

® I-VR

(D) V=I’R

R agib fargen aufiGu Qedaud WerGammic b ‘I’ @b sigan  GnEGs Simopgierer
Weman(psssSnden_Blerer (V) Qg erérear?

I? .
@ V== (B) I=VR
© 1-% © V-IR

'GTBA14 | | 38 O



124. Which of the following vitamins are water—soluble?
(A) Thiamine, Riboflavin, Vitamin—D and Vita-min——E
(B) Niacin, Vitamin-By, Vitamin-K and Vitamin-D
w Thiamine, Riboflavin, Niacin and Vitamin—Biz

() Vitamin-C, Vitamin-E, Vitamin-K and Folic Acid

Spssam_ Qpm_isafle Gﬁw(&é&uuﬁ@mm. aall L Blarsefld, aps GsmLiT saEman ey — SIS
FalgUIEne? : _ '!I.+i"

i

5

A)  esuder, @miGumiarelien eran L ifler-D wpmib evaut 1Sler—E

(B) enpiLt e, eneul_L BBz, eail L iflen-K wpmib e C L ifler—D

(C)  eswiler, epGuimTermal jr&len LoHOILD eaul_ L tHler-Baz

(D) e L 1flen—C, eneu il ¢ e K inpmi 88

(.\o

125. World Meteorological Orgil_n “@uarters is located at

w Genev

Taiwan

> @vdlan s LIGLIL BUISHE SEmamIowLsLD 2_germ @)L LD

(A) Gmefleur
(B) ensaumenr
(€C) Guen L sen
(D) waﬁuﬂmrrl _

u . 39 GTBA14
[Turn over




126.

127.

128.

The expansion of e-PPS is

ﬁ Electronie Project Proposal System
(B)  Electronic Population Prediction System
(C)  Electronic Polymer Purchasing System
(D)  Electronic Petrol Purchésing System

e-PPS —ar effleurésib

(A)  Wenemam S aperQumdse el

B)  Benenem) wésar Qgrans QU(THEUEINTEHEHE SienLnLiL
(C)  Hemengm urefliot Qasraredlenan jenLoLiLy

(D)  Heneamy QuiCrred Qarerellenan Sy

The first clear detection of water vapour in asteroid belt was reported
(A) Indian Space Researchi®@reanisa

(C) Russian Space u‘

y Both I and II

QiSwreilern gieenr Gl Wrss sapaaien Ggrr;ﬁ@g,@uugj

I &serena 2 mierisar

II.  wrflesserme o prndeaniser

Gaupgier

A) I seag II-b@ama B) Iwvi@Eb

© HTwoied @D Iwpmi I Gran@n
GTBA14 40




129. Arrange in chrono]dgical order :
I. Bhairon Singh Shekkawat
i, K.R. Narayanan
II.  Mohammed Hamid Ansari
IV.  Krishna Kant
(A) III, IV, I and II (B) II, IV, I and III
(©) LI IIand IV _ (D) IV, I, 1II and I

-

s auflenstiug erips)s :

. 4
I euGrmer S Qagareus :
il K.R. prynwiemren
L.  apsig anbs ienamf
IV.  fmpeyen srps
(&) I, IV, T whmub 11
(C) L ILII wpgd TV
130. The world forestry day is observed on )
(A) 8t March ' ) 15t March
0 (D) 224 March
B) wme-15
131. Ladies singles final in Wimbledon — 2013 had won by
w® M. Bartoli (B) . Lisicki
(C) S.Peng ' (D) K. Nara
2013 & penL_Gupp eflibiGan e waefirésmar gnennui (Gfalld Geundl Quppeui wiri?
(A M. urGLmed - (B) S. &flevsdl
(C) 8. Quemis - D) K. mmym
O , 41 ' GTBA14
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132, rVI‘he programme Sarva Shiksha Abhiyan is aimed at
(A) providing free food for the poor people
A | ‘pro?iding education for children
(C) providing financial Sre¥atangs to unemployed

(D) providing free medical aid to the poor

‘gireu ey < Qwner aramp S GHlean Chraanmeag)
A)  gap bsEsEs e amaiasgb SlLb

(B) Apriraensstan el eupmig SCb

(C) CamawunConmss B 2 sel.ciprigb b ‘ | g
(D) gowsEsse Qoas hsse e s6il alphiEgh ;f,lL_t_m e®

'_‘J; .

133. Which one of the following 18
(A)  Athens
(C) Cairo

Epaair_eubbled eThE 67 &u@ug{muu B&SLD eTan SenpéaliLOSDs?
gGpenen

(B) Quireden
D) Ggmb
134. . state that has literacy rate lower than the national average is
(A) West Bengal ' (B) Maharastra
w Andhra Pradesh (D) Karnataka

Gaélw synsfl soelwde cissms ol Gapeaurer svafuifla) eigb oear wiHleb
(A)  CubhE absrerd (B) wsnyregigym

©) pdy drGsed . | (D) sIHTLST

GTBA14 42




135. Find the missed figure in the sequence

(A)

(©)

(©)

AT

pailRN

(2)

—r—

TN

N

@B AN AR
UV 7
(1) )

43

ATITN
N

I~

AN

| )

\ /

\ e =

\\____“J PZ
(5)

AN11%

NI

GTBA14
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136. Arrange the given words in a meaningful sequence :

1 Honey 2.  Flower 3. Bee 4.  Wax
(A) 1,342 B) 2.1,4,3
v 2Lt D) 4,321

- Epésen_anigmssamen, SitssweaeT aufllaaudle erpss

1. Gaen 2. u - 3. euan(® 4. Quuye
¥
| o
(A) 1,3,4,2 ' B) 2,1,4,3
€ 2,381,4 (D) 4,321

137. 30 percent of a number is 15 less than 8/5 of that number. Wha

(A) 48

y 50
@ eretantled 30 #oeSsbD .a;Gg GTGHT. ey Lkiens el 15 Genpe eralle) oibhs e
@) 48 \ ®) 52

(©) ‘ .:“ D) 70

138. 13 divided by 13, the remainder is 11. When the same number is divided by

emainder is 9. Then the number is

@ 339 ‘ (B) 369

G ' | D) 359

@ aramanang 13-oud ai@ssiuBb Curg 88 11-25 5@Ens). 2105 e 17-246 aigssiiLEio
Gungl B4 9-g5 5@EIpgl. S(bs eram

@A) 339 . (B) 369

©) 349 D) 359

GTBA14 44 ' O




139. The following table gives the life time of 500 CFL lamps :

Life time (months) . 9 10 | 11 12 13 | 14 | More than 14 | Total

Number of lamps 26 | 71 | 82 | 102 | 89 | 77 53 .- | 500

A bulb is selected at random. The probability that the life time of the selected bulb is atmost
11 months is given by

82 179
A — ‘d =
@) 500 500

7 268 &l
C —_— D B— A
© 0 D =50 b
500 &y @l eflenkgsaflen eumppreT aflaugid ECip sytiLc (erarar:
QUITLDBTET (Lomsiisafie) Glm.rrg_'r,g,i_b
eflomis@saflan raimenflécns | 500
Gg,ﬁ@@(é;@ésas_&ul'_l_ (M @g;é; i g Slsulan 11 LOMG L& @FaHE  LOlEmne
Boiuspsren fapssay "

82 " e 179

500 \
: 97 < k > 268
(©) ﬁ)' 6 D) ﬁ

140. spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many days?

B) 72

@ 1
| y 7 (D) 49

7 Qaopdaer, 7 saBamar 7 ;r,lrt_éssrﬂé) Gauigne 1 fapd 1 s yamar asgamer b sefld Gaiib?
A 1 B) 72
© 7 D) 49

O 45 GTBA14
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141. Identify the next figure -

(A)

auflensuie 2|Bés UL Fams st il :

AN N = 9
(2 (4) (5) (6)
(B) <

D)

- (©

GTBA14

o9

4 = ?
(4) (5) (6)

B) &

D) %



142, Malini deposited Rs. 7,000/- with a finance company for 3 years at an interest of 15% per
annum. What is the compound interest and the amount that Malini will get after 3 years?

(A) Compound interest — Rs. 3,246, amount — Rs. 13,246
(B)  Compound interest — Rs. 3,646, amount — Rs. 10,646
(C) Compound interest — Rs. 6,436, amount — Rs. 16,046
(D) Compound interest — Rs. 4,636, amount — Rs. 14,636

2 B smmu_lggf,la) wrellafl spemqnE 15% eramm eigsdlad, 3 Q{,M@&;@&;@ e, 7,000/ @gsﬁ@
Qadigm, am_(a aullg penpuda, 3 eyam@EEssEl GnE wrdlafl Gupb sulgd Careansuyn ﬁiﬂﬂr@ﬁ,&.

CsTensuLd wirenau ?

A gal_(Haoulig — (. 3,246, Gsreps — (. 13,246 A
% sal_ Qe — 5. 3,646, Qsrens - . 10,646 _ e
(D) —(Heuig — ¢p. 4, BIens— . 14,636 036

Ll e factory Rs. 60. The average salary of 12 officers is

143. The average salary of all work
Rs. 400. The average salsi'. . ot
(A) 1116 n\

ﬁ 1032

|

20 Azmflperemaule o drar Asmfleorariseter symafl sardlun @, 60. <idlé siflsmisdr 12 Cuflan

Rs. 56. Find the total no of workers in the factory

gynefl sadluin 5. 400. Bseperer Asmiflanarnisardr eyrafl earfluib . 56 arafled Gamilhsrameuda

2 drer Qorss Qsmflerarisafisn aramamisamns s

(A) 1116
(B) 1032
€ 1212
(D) 1132
0 47 _ - GTBA14
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144, Match the following :

List I List II
(a) Deputy Chairman of the Rajya Sabha i Appointed by the President
(b) Speaker of the Lok Sabha 2. Appointed by the Lok Sabha

-(¢) Chairman of Public Accounts Committee: 3.  Elected by the Lok Sabha

(d) Chief Election Commissioner 4, Elected by the Rajya Sabha

(a) (b) (c) (d)

!) 4 3 2 1
B 2 3 4 1
© 3 2 1 4
D) 1 3 2 4 e
Quirmss)s : 36
L gwied I G ui_iguwed, IT
(a)  wrfleRisamas simaTsmaeuir 1. panmdludwine Bluiwerid
Qeuwdu@ampmi
(b) © 2. béseTeeuLITE Hluinerd
Qe
&e 55 @(Lpedler i : 3. LO&SETEGUILITE)
' CoipAsBésILGADTT
4. Lol QU SETEn G LI TeD-
CanpEsB&stiu@anrT

(a) (b) (©) (d)

(A) 4
B 2 _
© 3
@) 1

B = s b9
Ol e b

GTBA14 48



145. Who said that, “Prime Minister is the captain of the ship of the State?”

w - Munro

(B) Ramsay Muir
(C) Jennings
\ (O). H.J.Laski

“Arsio Sienods 2ipa erandlanm slinedlen Galier erey safluieu wiri?
(A)  wewmGymr

(B) pmbGe qpir

(©)  Qemenaiien @

@) H.J. eorvd

146. By which of the following articl wocedure for the amendment of the Indian

Constitution is given?
(&) Article 230 ‘\\

&Gy Gar@ssiul@erer @b Sirfluemoliy o lilsefiad sr;bg_- 2 mirndléd @ggﬂummmmqg

dmssypep GHUELLULPETaTg?
(A)  =mu 230

B) gy 320
©) omiiy 358
D) oy 368
‘ o | 49 | . GTBAl4
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147. Consider the following statements :

Assertion (A) : India is a Republican Polity.
Reason (R) : India shall have no hereditary ruler and the people shall elect their
Government,

Now select your answer according to the coding scheme given below.
ﬁ) Both (A) and (R) are true and (R) is the correct explanation of (A)
| (B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A)is true, but (R) i_s.false-
D) (A)is false, but (R) is true

DGl aUTSELIkismaT Sele

aﬁg‘)g Ay @@ﬁmn@@@quu&.@p@ummﬁq'.':y)-emm,

sugenid (R) : @bdurel@isEpe S S@aE@LRRTON WESETEII

£C§_g9 Qar@ssiiu’erer @

(A)

(B)

(C) (A) &, syamme (R) saumi

M) (A) seum, yenmed (R)w

148.

Sivaraman Sarkaria

(D) Ramesh Singh Sarkaria

s&smiwT @G (pellen senaeu
A)  Gneds A sndamilur
(B) @rrmre A sisamilwm
(C)y  Seupminer srssmilur

(D) @Gy A srdsmilm

GTBA14 50 | O




149. Who was the speaker of Eleventh Lok Sabha?
(A) Bal Ram Jakhar

(B) Shi_vtraj Patil

W P.A. Sangma

(D) Somnath Chatterjee

LS Cammmreus| oSsemene 1l e L BT IIET Wimm?
DmeUg)

N
(&)  wdymd Qrést | _ _
(B) Seupmm uGL e | _ q
(C) G.g.smion - e&

(D)  Gembpns sm_L i _

150. Who appoints the Advcscate e tate?

(A) President

rNnor

Chief Justice of Supreme Court

nflesHen o aCsl Qgameama e Geditiai wmi?
(A) BT semweut
(B) (Spsio Sjenwnssit
(©)  peppi
D)  ossfBuapsdan swamns FHuE
O _ | ' 51 7 GTBA14
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151. Mateh List I with List IT and select your answer using the codes given below in the lists. -

List I List IT
(a) Lala Lajpat Rai 1. The Philosophy of the Bomb
(b) Bhagat Singh - 2 Chittagong Armoury Raid
(¢) Surya Sen 3.  Assassination of Saunders
(d) Bhagwaticharan Vohra 4. - Extremist Nationalist
(a) (b)

(a) 2 1
B) 3 4
e 2 4

3

e

L iguied I-o e U iguidd IT-igener Guim

Qum(BHEss.

U tqugh T “\0 wigwied IT

(a) wrerwmus

Qa 4G () B55IaUD

2. AlLemh <uss SLREG STEGSD

3. &n_@n.n;reﬁ: Qsmrene

(@) useudsyar gur 4, Sellyeurs GCaslwaeund)

(a) (b) (c) (d)
A 2 1 4 3
B 3 4 1 2
©) 2 4 1 3
(D) 4 3 2 1

GTBA14 | 52 O
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152 Mateh List I with List IT and select the correct answer using the codes given below

@
(®)
(c)
(d)

(B)
(©)
(D)

aiflang I-@e 2 drareupenm cuflens
o ruger eflen_enwis Gzifley Geds.

L

(A)

®)
(©)
D)

List 1
Beek
Archibold
Rahmat Ali

Pakistan Resolution

(a) b) - (©

2 3 4
3 1 2
1 4 3

Lindlevsmen Silored
- (a) (b) (c)
2 3 4
'3 I F g
1CE: 3
4 2 1

List 11
1. ~ Lahore Congress
2. Mohammedans Defence Association
3. Principal, Aligarh College

4, Coining the word Pakistan

QM LOTHT(H
2. PSLSIT SHETUILIEF SHRISD
3. psoai, Sidsrt swgni
-

4. unélavgme eremn GQlemaendisid

(@

W N s

53

‘ Qar@Bssiiul Herer GsmEUde mba)
aufflens T \Q auflens 11
v XV

- GTBA14
[Turn over



153. - Which of the following statements about Mangal Pandeéy are correct?

- 154.

L He refused to use the greased catridge.

I1. He was a Sepoy in the 19 native infantry stationed at Berhampur.

III. He belonged to the regiment of 34 N.I at Barrackpore.

IV. He was not punished by the British.
(A) TandII - (B)

(Cy IIandIII

II and IV

y I and 111

Glenau (maianeuhmIeT WhaiseT UTeGL GHlSS sflunenens Qsfley Gel.

IL
I,
IV. synflGawgre geaygdsiucldma.
@) Twpgoll e 06 (B)
© I wpmidIIL “\ D)

<

vas the disciple of

Y

(C) Namadev ' (D)

(A) Madhavacharya

@iTgian wrpenLw LT
&)  wrsarssnfui (B)

(€) proGsauir (D)

GTBA14 | 2

Vallabacharya

Eknath

GueeLITESrTWT

FEBTS
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155. Who was the Prime Minister when for the first time No-confidence motion was moved in the

156.

_ Indian Parliament?
w Jawaharlal Nehru
(B) Indira Gandh
(C)  Morarji Desai

(D)  Lal Bahadur Shastri

phbllsmslaar Sioreaid avsear psars @bdw Brimaswamsdd Gsmam® mfgg,@hrr@g@wg,w
S|enLEsTTS @l HBseu wWmi?

(A)  masiend Gu(m ' | q
®)  @spm e | 6\

(C) Gompmigd Cesmi B ] - ‘ G 5 ,

(D)  e@rdusgnisnavdf ’ i

The Chief offensive Weapoh of
(A) Sword . “\
(B) Axes _

ow and Arrow

Caug srasild LuaUIBSSILILL &SI STEELD SySLD

(A)  sumer
(B) . Gannfl
© rFig

(D)  &fléd HmLD by

55 GTBA14
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157. Comsider the following pairs.

Tron ore déqadsi-ts | State
1.  Bababudan Hills - Kama;aka_ _.1
1I. Badampahar —  Goa . }
: I1I.  Dalli Rajhara — Orissa |
IV. Kun_dem-Sﬁrla i —  Chhattisgarh

Which of the pair given above is/are correct?

ﬁ I only _ -
(B) IandII | & :
(C)y IIandIII e .

(D) IMandIV

Geraspid @eramsamer smsHh Asrers. L T .
BmibuSsTE Lo e Oeﬂ"bﬂm
R e

= Camaum

I LATLIL L @O

- gflem |
_@M—&fmn —  FlleGVSF
-Gm;b@,;ﬁ]ﬁuﬁlu.l_ Bevemraafler erg) #fl?

A) Twipw

B) Iwopgb II

(C) 11 wpmbd I

@) I wpmi IV

GTBA14 | 56 - O |




.158; Match the following states with their size of population (2011).

(a) Manipur 1. 29,64,007
(b) ) Meghalaya ‘ 2. 19,_8&,602
(©) Mizoram 3 3. 2721756
(d) Nagaland ] 4. 10,91,014

}‘

(a) b  © (d)

W'z 4 1 3 ' '. | | A\

® 1 2
© 4 3
o 2 1

e 29,64,007
2. 19,80,602

3. 27,21,756

4. 10,91,014

@ 2 4 1 3
® 1 2 3 4
© 4 3 2 1
@ 2 <1 4 3 :
O | 57 - GTBA14
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159. Match the surface area with their ocean.

(a) Atlantic Ocean 1. 165,000,000 km?
(b) Indian Ocean 2. 82,000,000 km?

(&) Pacific Ocean 3. 73,000,000 km?
(d) Arctic Ocean 4. 14,090,000 km?

(a) (b (0 (d)

@ 3 1 9
B) 1 2 4
© 4 3 2

[s<]
(]
—

&L alabt u_r,erusrrsﬁsu <=ignE i Curmfla@ser Gun

(a) o emeimgs QLimmisL e h 5.000,000 km?

3. 73,000,000 km?

(b)

(c)

4. 14,090,000 km?

A 3 1 2 4

®) 1 2 4 3
© 4 I

D) 2 3 1 4

GTBA14 ' _. 58




160. Match the following :

(a) .Polydac:tyly - 1. Y linked trait

(b) Color blindness | 2. autosomal ré.c.ess;ive. trait
(¢) PKU 3.  Sex linked recessive traif
(d) Hairy Pinna 4, autesom—ai dominant trait

@ ® (@ @

A -4 3

2 1
B 1 2 -3 4
(C) 2 3 4 1
(D) 3 1
QLJH@"&B@&T
(a) wredlnéent ell & Qe Y7 guiips @ewrid

(b) 2. S CLrCGrmued gHmEEsamin
3. ume Ymenss (kG Eemid

4. o CLrGeamoed gmiE @i ‘

(@

@™ 4 3 2 1
B 1 2 3 4
© 2 3 4 1
D) 3 o e 4

O "' 59 . GTBAIl4
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161. Match the List T with List I answer using the codes gi\?en below :

. List I

(@)

(b)

(o)
(d)

A
(B)
(©)
(D)

@)
(®B)
(©)
)

GTBA14

Occupéncy' tenants

Tenants-at-will

Sub-Tenants
Intermediaries

(a) (b) (©)
2 3 1
1 2 3

— 3 2
3.‘ 4 - 2

aufflens [

Ble 58l

@@Lﬁﬁﬁ&ﬁ&ﬁ

(a) b  ©
2 3 1
1 2 3
4 3 2
3 4 2

I8 GESDESNTIT

(d)

(d)

60

List IT
Extremely weak
Permanent and hereditary

Temporary Tenants

Absentee landlords

aufleng 11
aflsul g LieeieTonerauir

BlyBgyoner HmiD aurflsflento Gupmeur

sheTdls GEsmesNiT

wanmps Bl



162. As per the census 2011, India's Population was 1.21 billion, which is : _ — percent:
of the world's population. .
@) 185% - L 175%
©  16.5% ' D) 15.5%.

2011 wést Qsneas sarsds®udany @bdwuredar wasdar Asras 1.21 Gddluamgn. @& 2 ws

w&aL Ggrenguller FSISLOMEGLD.
(&) - 18.5% | | B) 17.5% _ |
(C) 16.5% ‘ _ D) 15.5% ' z
.-I:II i
163. According to 2013-14 budget of India, what is the percentage of current revenue’ iture

meant for payment of interest?
(A) 16 percent
(C) 28 percent

A 26 percent
(D) 32 percen ;

@nHwreilar 2013-14 mga’q 4 4
g urss GeanssliLhEng?
A) 16 efapés® B) 26 alwssnd

(C) 28efpsan( '\Oe (D) 32 &flgpasn - .
p : adu secures first rank in percapita Income in 2009-10? :

Coimbatore

W’ Kanniyakumari

silpp g 2009106 sefipur eummuwraga (padlLsdlo Qupm wreul L b eTg?

(Wasr® By eureumi Gleewedle,

164. Which district

' (A) Qeerenen
(B) £l(meuemeaniT
(C)  Csmugpdsni
(D) aseaafwmngLoil 7

O 61 GTBA14 -
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165. Classify the following elements as Lanthanides and Actinides

1:
2.
3.
4.

(B)

(©)

(D)

1.

2
3
4

(B)

(©)

(D)

GTBA14 |

Samarium (Sm)
Uranium (U)
Plutonium (Pu)
Dysprosium (Dy)

Lanthanides

Actimdes

Lanthanides

Actinides

Lanthanides

Actinides

Lanthanides

Actinides

FCioMustb

Samarium, Dysprosium

Uranium, Plutonium

Samarium, Uranium-

Plutonium, Dysprosium

.

Dyspresium, Plutonium

Uranium, Samarium

sCofuib, wevL|Crrausb

wGraflwu, LepGL el

G, wGretluwin
LienGLreflwiib, wevyGrravuwib

ig e Grreuwid, LenCLreiluib
wCraflwib, sCuoflwib
#CwMwib, LEpCLmaflwib

wGraflwib, igenyCrmenuwilb
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166. Match the list of radio isotopes with its uses given below and choose the correct answer
using the below given codes.

(a) Cobalt 60 _ 1. Fertilizer

(b) Agl9 2. To photograph brain tumour
() Hgl" 3.  Blood cancer
(d)y P32 4.  Sterilisation
o ] 1 |
@ ® @ @ | | .
(A) 2 4 1 3 ,
P 3 2 1 «
© 1 2 3 | e ,
D) 1 3 2 By | '
ECp Qar@ssiiu_Bearer CrgCur pCaal
gilwmean eflent_eanws ECip G]asrr@‘és- @il
(a) Gamsmeal “\ 1. =mb
(b) Aé 2. ppener sCigenis L 1D 19g.658
- 3. @rss uonCrm
( % 4. mamo Em guficy

(a) (b) (@) (d)

(A 2 4 1 3
B 4 3 2 1
€ 1 2 3 4
D) 1 3 2 4
O 63 GTBA14
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167. Consider the following statements and select the correct answer :
Assertion (A) : Sclerenchyma cells provide mechanical support to the plants.
Reason (R) . Sclerenchyma cells have thin cell walls.
(A) Both (A) and (R) are individually true and (R) is the éorrect explanation of (A)
(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
% (A) is true but (R) is false
(D)  (A)is false but (R) is true

Sipsanayid eursdliuitismen smadld Qeran® sflwrear eflenenius CaipasE - -;.\t'
gapm (A) . evdlenyenensiom GEdseT SralThisEhsE 2 nds sambuilenar o afisdamar.
smyeannid (R) . avdlemyenenaion Qedsar Qnenentowirer Qeasauisenart) GLibH D drea

(A) (A wipb (R) @rem@ib sf. Coayb (R) eremuig) (A)ellne siliiner el sl
B) (@A) wppid R) QrenGuaeh. G T
(C) (A &fl yanmad (R) 5
D) (A seum e (R)

168. The nitrogenous bases found both in @fnd A

I - Adenine and Uracilg
o = Thyminaand G

III — Uracil 2 ?';,1 fon
IV — Adenine, G
A) I

(B) I

ig.erem.er (DNA) wpmibd .%r'r.ers&tq. (RNA) =ydlur @neiriqaid 5rrdumu®aﬁshm anfLCmaieren
SITIRISET T 6T

I — Sl enerem HHID wygTSed

I — engidlem WHmitd GouTEnEmEn

111 — wpndléd wHmb ewsdlen ’

IV — siq.enemetn, @eumenasian Lommid m#t_&_mﬂs‘w

@ I . (B II
(€ I (D) IV

- GTBA14 64 O




(A)  Songs of Blood and Sword"
M (C‘hronicles of Corpse Bearer

(C)  Nine Lives

(D)  You can sell

169. The DSC prize for South Asian Literatrv.lre was given to _
QzHardu Qasduib Clgrirer DSC ufflens Qupp BreD

(A)  eomicH < GenC i@ dvaurTii '

(B) dprefidsen 2,0 smirlieay Gt - _ {ﬁn"

(C) ooparaleaan |

D)  uw, Caen Qs

170. INDRA —is the joint Navaliexe etween the following cou
(A) India and America '
(B) India and Japan

W India and Russia

(D). India and Australia

‘ Tﬁi M DDHMILD Fegr

B LI WHmILD q%ch)g;](zmﬁlwn'

171. Which among the following has the world’s largest reserves of Uranium?
(A) . USA

(B) Canada
(C)  Russian Federation y Australia

|
|
Eipsam_aupBle erbs B i 2 GG ifls Siarey WGl 2 enars? .
(A) USA _ (B) sarm
(C)  pem sl Lol : ' (D) =yevHCreslum '
O _ 65 | ' GTBA14
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172, Which of the following is not correctly Matched?

Dances States

(A) Bhangra _  Punjab
(B) Kuchipudi ~  Andhra Pradesh

w Yakshagana  — - Gujarat

(D)  Odissi " —  Odisha

Spéadm_aupner seunns GumssLLL Berers) es)?

. [BLenmRISeT DMl GV BIEET ' | | q
(A)  ummigmw r = . _ ' 0 7

®B)  @Fsuuy - -

(C)  wéeassneand -

@)  gyevat =

&5 sulien smguler G b@AupmieTer Geasallern LLkseT abs Wrsms Gaibsma?

(A)  syeflel
B) BeCur
(C)  <eyQar
D) euen

GTBA14 66



174. Telecommunication Consultant India Ltd. was set up in the year

(&) 1975 . (B) 1976

(©) 1977 v 1978

@BSLE Hsranas Gi.;_f_sn_l_r'rq Ceenau Flpeuentd 6Ths <pewr([H THUHSSULILL &7

(A) 1975 (B) 1976
(© 1977 M) 1978
) i
175. The world’s first intelligent Knife' developed can detect A
(A) Genetlc disorders _' (B) Congenital diseases
y Cancer (D) None of the above

o avéletr (LI Hiewrenihle) 8
“(A) Y& GeenunhHsar
(©)  upmGrmi

176. The speed of the world’s fastes @np iter 18
(A) - 33.88 petaﬂops (B) 33.87 petaflops

(D) 33.83 petaflops

E L nSlieniien “(B) 33.87 SCLrnlenmien

33.86 (L osLiammiien (D) 33.83 S maenmiie

177. The satellite which was placed 1n orbit by PSLV-C22 on 2nd July 2013 is
v IRNSS-1A  (®) IRNSS-1B
(C) IRNSS-1S (D) IRNSS-2A

PSLV-C22 —aya spmeut L urasude 2 Oma 2013 wisnm GeayssiiLi’ L QewinessGsnar
(A) IRNSS— 1A - (B) IRNSS-1B
(C) IRNSS-18 (D) IRNSS-—2A

= - | 67 GTBA14
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178. India’s first centre to monitor climate change was opened recently at

(A)
(©)

New Delhi

Jaipur

) Chennai

(D) Bengaluru

s LGauliu Hlevey IHDSDS samsTaila@h (pEo awwd alusHd @iunelian eynbi@ssti

W)
(A)
(©)

(4)
©)

A)
(©)

GTBA14

L&l el

Qg

10

16

10
16

®) Qodwar

(D)r Aunises

e

uLg8d 2 drer CriGar(aafian crameaflbems

B) 12
D) 8

68



180. Tind the missing number in the diagram.

4 |5 10| 8 12 | 8

20509 - 30 | 18 ; ? 20
(A) 25 : (B) 30 _
y 96 ' | (D) none of these

‘ Slemeumid UL Gl el L eramm arg)?

: 9 -. -
415 10 | 8 12 | 8 1\} ‘
20 | 9 80 | 18 ? 20 :
@ 25 (B) 30
(€C) 96 , D) geupile a@eql.ﬁla)am

01. The difference ofstwe, of f‘ is 24. What are the

181. The sum of three prime ni

numbers?
(A) 5,59, 37

(C) 11, 37,53

ppeml LT eramaetion & (H5es, 10 e iy e Qe cremaEndE Qe Ll efgduirsnd 24 srafie

2 alaTSeT Wmeneud \ -. | 7
A) 5,593 ‘\ | (B) 41,53,7
110, BT 0T D) S G5y 3T

(©)

A starte %om a place. After walking for a kilometer, in a direction, he turns to the left,
walking for a half kilometer, he again turns to the left.,,Now he is going eastwards. In
vhat direction did he originally started?

ﬁ West = | (B) East
(C) North _ : (D) South

A aenueui @fl 8 mHs o Hasmu Corsd em SCar BLLT BLbs WnE QLiussnd Spnd
1/2 &Gar BLL i pLbs 9peE BarGi GLiiussh Hpold pLbs Qeodoni. sHCLrg el ipée
Hava Coradl pLbgl Qeamnad, Qsn_dssd sl abs Hmsamu Conédl pLéss Gsmrdemmi?

(&) Gups - (B) dpig

(€©) e s . D) QspE

O 69 , GTBA14
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183. The ci;‘cle-grapll given here shows the spendings of a country on various sports during a

pérﬁi‘cular vear. Study the graph and answer the question.

Cricket
81°

Basket Ball
50°

What percent of the total spendings is spent on Tennis? @q
A 121 C ® 221% e ,

(©) 25% @) 45%

Qerd@ésiulL el eUETLLDTETS  &(5 o GHOELL  oy@mapEesr  LoCaum

a

Gar. _ \

THgman 561510 Qorgs Graslasds QL araflevrssnas Qemaltiu@dmns?
(A 121% B) 221%

©) 25% D) 45%

GTBA14 ‘ . 70 - m|




184.

185.

186.

187.

S 2% (B) 50%

The sides of a triangle are in the ratio %%—i— and its pe_rimeter is 104 cm. The leﬁgth ‘of

the longest side is

(A) 52cm , d 48 cm

(C) 32 em (D) 26 ecm

@ pSCararsdlen LIGsmnEeT EEE erenp ellflggsler o enenan. gem apmerey 104 em. —syser
Bemomar LUSSSH 6 i6Ta cTeen?

(A)_ 52 em (B) 48 cm

(C) 32cm . (D) 26cm 1'1;#
If A’s salary is 20% less than B’s salary, by how much percent is B's salary 's?
A)  24% v 25%

(C) 20% . j (D) 22%

A-én eupomad B-ullar au *, B-uleir m@mrrmlm A-ullar
QUHLOTETHMS el erescuarad
(A) - 24%

(C) 20%

20% @enpeuns
LBITS ©_cjga| W

surface area of the cube is
(B) 125 em?
(D) 100 cm?

The volume of a cubed
(A) 625 cm?

| ﬁ 150 em

625 &.Ge.15. (B) 135 5.Qs.18.
150 £.Qg.15. (D) 100 & Q.15

If 50% of (x —y) = 30% of (x + y) then what percent of x is y?

©  75% D) 100%

(x—y) -en 50% = (x+ y) -ew 30% erefled x-a» y-aor 585D erement? |
(A) 25% (B) 50%
(C) 75% (D) 100%

71 GTBA14
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188. The least number which when increased by 1 is divisible by 12, 18, 24, 32 18
(A) 278 (B) 288
g 287 @) 279

(I GT G0 L6 @mmms @il 2g 12, 18, 24, 32-ga Sslland auiguBdng. sigsmsw Besy)

GTEHET
@ 218 (B) 288
© 287 ' (D) 279
189. The missing term in the series : -::i,'ﬁ
9, 225, 16, 196, 25, 169, _ 7 | 144
(A) 81 '

yaﬁ

9, 225, 16, 196, 25, 169,
&) 81
(C) 36

190. Find xin 4 x64* =16**°

/i
2
®
N

E
B

191. At simple interest Rs. 1,000 becomes Rs. 1,150 1 in 3 years. If the interest rate is increased by
3% then the total amountis

(A) 1,400 1,300

(C) 1,140 y 1,240

@0 GHUALL saflan’ iy dizsdld 3 an@saie ap. 1,000 e . 1,150 < dng). 3% &@gmna;
aul g aisi @@inder, spGLnensis Gorss iy

(A) 1,400 (B) 1,300

(C) 1,140 ' (D) 1,240

GTBA14 ‘ ‘ 72 , O



192:

193.

If 18% of the total number of oranges in a basket is 36. Then the total number of oranges is
(A) 100 (B) 150

w ~ 200 (D) 300

; gaen_id 2 erer Quomg TEs& Unmsaie 18% yerg) 36 Graﬂa) QUDT&EAPETET S TEHS
@0 85 <MEHs LD &l BSP SHTEH

upriigefien erarenflsens ,
(A) 100 (B) 150

(C) 200 (D) 300

The ratio of the prices of two cows was 23 : 16. Two years later the price of the first cow riges
by Rs. 477 and that of the second by 10% and the ratio of their prices became 20 :11. Find
the original prices

Rs. 1,219, Rs. 848
(B) Rs. 1,218, Rs. 848
(C) Rs. 1,210, Rs. 850
(D) Rs. 1,219, Rs. 840

“.,‘ ft length reaches a window which is 24 ft above the ground level on one side
je street. Keeping its foot at the same point the ladder is turned the other side of the
t'and now reaches a window of 7 ft high Then the width of the street

(A 30 32
1

© 29 y 3

e smeiler Fmssil Herar 25 =iy Beraparer genfl senpolL sHOMmHE 24 =g 2-wWiygpeTer
sanaianas QsTRHDS. Sigerw oI Sdgaion swhp HsEsmeldar wHUsssSwaTar
Femareney T g 2 WTEHG Qar®Ays arafld 2505 mellen swbd
@) 80 B) 32
© 29 - D 31

73 . GTBA14
[Turn over



195. Which of the following statements about Lok Pal is/are wrong?

(i) Lok pal will have the power to investigate an Administrative Act done by a Minister

or Secretary
(ii) Lok Pal can inquire into a complaint of maladministration

(i11)  Action taken in a matter affecting the dealing with Government of India and any

foreign government
(iv)  Grant of honours and -awaids
@ @), (v
(B) (i), (i)
© @ Gi

ﬁ (i), Giv)

Carsurad @ihss smigsatie G emeumeuameummn

1) o wEHN Swag %u.l ‘ @ns Geweme eflamyananr Aaiiu Corsuraiée <idsmib

\}

QanRssiiu’ Herer yarany Corsume allerflagsawmb,

2 o (B

@)  Hlireurs

ﬁ 2ipemmsd wHmd Ceuelprl( 2rsrhssgiLea gHUBL QUUEsSESmTS GHSs
) S&CIMLD,

wilwrens wpmib eflmaiser siefliliug.
A @, Gv

B) (), (i)

(C) @), (ii)

@) (i), @)
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196.

197.

- from,

Which one of the following is not related to NGO's?
(A)  Civil Society Organizations
(B) Citizen Association-s

Non-State actors

M Public Corporations

Genan(meuaTeuDmeT eTHS @ eTe. o). SaEhLen ASTL TN WIS e ?

(A)  ©yows sups Bpeabisar - _ - "::l?‘ |

(B) (B4 0E66T FRISHISET:

(C)  s-snyr QewduTl L TeTisaT ' ' _ *
(D) GQurss swamseT e< c h'

v

|
In Indian Constitution the directive principl

te policy were incorporated in Articles

(A)  Art. 40 to Art. 51

@ndu sirsmwoindern opflar Qerdramsamu el Qequszib Arlapampsmer TRSSPIESGD

2 mUIL|EeT

(A) 240 apse 2. 51 cueny
B) =36 sd . 5l ey
(C) =39 pse 2. 51 cueny

(D) o 25 @pse 2. 51 auenip

75 ~ GTBAl4
' [Turn over




198. Consider the following statements and select the correet answer using the code:

I. IGOANPS covers only BPL population and persons above 65 years and provides
Rs. 200 month

II.  In India, avoidance of poverty is reached when a person has access to 2100 calories

per person per day in Urban area and 2200 calories in rural areas.

CODE :
- (A) TIonly L
(B) Ilonly .

M [ and II

(D)  Neither I nor II

Epsam._  eursdlunsamer

QA5 Hasayb.

L IGOANPS Qg jentwig) BPL & G
G&ﬁ@ésau@mgm@m’
I1. BOAITIL eramLg) ehs @ weflser 2100 sGamiadr @@ B sEmHE

b 2200 sGaurfser AymoirsHaib o HeaisrEib,

(B) Il @b

(©) I wpmw IT

D) I oeeg II-b @adme
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199. Which among the following Committees was responsible for the incorporation of

fundamental duties in the constitution?
(A)  Wanchoo Committee
(B) Sachar Committee
W Swaran Singh Committee
(D) Bhagawati Committee

&GQ Qar@&ssUUlBeren @Uasella ag SligliLmid sLambsmer Qb Srsamolite Gleeanss

SIS B)HHSSI?
(A)  eumErs Gup
(B)  gmemi@w

. (©)  eveupen i G(Lp
D) useaud ey

200. Arrange the following in desce
Teshil

i,

2. Sub-division

3. Village ‘8 : e

4, Pargana \0

w 2,1,4, “ _ B 3421
< 1,243

© 213 ®)

4. LI masm

Ay 21,43 B) 3,421

(C) 2: 1; 3: 4 7 (D) 1: 2: 4_’ 3
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